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16.6 (a) Given&>0,let N= {kl/&.
f (b) Given >0, let N= (1/8". Thenn> N implies nt>1/es0(1/n) <&
© 3n+1
n+2

S—S-, so given £>0, let N= 5/¢.
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(@ g‘—'l-oisl, sogiven 5> 0, let N=1/&.
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() ",Lzs{sl—z'—'z-ﬁ when n2 3. Now n? -3 Ln? iff {n? 23 iffn’26iffn23.
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So given £> 0, let N = max {4/¢, 3} /
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(&) Hint in book: a/(n+1) <n/n=1/n.
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16.12 (a) Since (%) is bounded, 3 M > 03t)<M,Va Givene>0,3 N3 |s.| < &/M whenevern > N.
Thus for 7 > N we have [Se] = 15a] [al <1S.d M < (/M) (M) = £,50 5,8, 0.
(b) Lets,= i/neands,=n,so that 5,1, = | for all n. Then lims,f =1 #0 = lim s,. /

16.14 Sinces> 0, e=s5/2 >0. Thus 3N 3 n> Nimplies |s, — s| < £/2. Butthen0<s/2<s,, VY n>N.



17.15 () Hint in book: Multiply and divide by Va7 1+ i .
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17.16 Lett, = 1/s,. Then lim (vt /0) = lim (s, /5,.,)
lim s, = + co by Theorem 17.13.

17.17 (a) Hintinbook: Fork> 0, use the ratio test.

n

Answer: Lets, = L' Then for k> 0, Sntl _
n!
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For k <0 we have

’i-o’:'k_l, SO ﬂ -
n! nl n!

thnk=0,s,.=0Vn,sos,,—+0.

(b) When &> 0, lim n!/ n* = + oo (diverges to + ) by
not defined. When k< 0, it diverges with no limit
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=1/L. IfL>1, then I/L<1,s0limys,=0. Thus

k”” 1
=k — 0. Thuss,— 0.
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0 by Theorem 16.8.

Theorem 17.13. When & = 0, the sequence is



